DIFFERENTIAL CALCULUS- APPLICATION I

PART-A
QUESTION
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If u=2x" then —_1s equal to
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g true statements 1n the following

Identify

If a curve 1s symmetrical about the origin, then it 1s symmetrical
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about both axes.
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() If a curve 15 symmetrical about both the axes, then it s
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(111) A curve flx, v) = 0 1s symmetrical about the line y =x

symmetrical about the origin.
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The percentage error in the 11th root of the number 28 1s approxmmately

times the percentage error in 28.




9 The curve .:Jz_\-"j' = x° (.:?:' - A'EJ has
10 An asymptote to the curve _]'2 (a+2x)= e (3a—x)1s
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1) Use differentials to find an approximate ialuc fm’t e given number
+/36.1 d

”
2) \
Use differentials to find an approximate value for "_5
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¢ Example 6.5 : The time of swing T of a pendulum 1s given by T =] where k
15 a constant. Determine the percentage error in the time of swing 1f the length
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3) of the pendulum / changes from 32.1 cm t032.0 cm.
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Example 6.22 : Using Euler's theorem, prove that x ar + vy E“c =75 tan u if
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Using Euler's theorem prove the following :
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Vernfy Euler’s theorem for fixy) = —1
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for the following functions :

1 =sin 3x cos 4y
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Use differentials to find an approximate value for the given number
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